Warm-Up March 28, 2019

1. Write the slope-intercept form of an equation for the line
that passes through (-8, -1) with a slope of -3.

2, A plumber charges $15 per hour, h, plus a $25 service
fee for house calls.

a. Write a linear equation to show how to find the total
cost, c.

b. How much would it cost for a 6 hour job?

3. Factor completely: 8x* - 36y
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All quadratic equations are written in the form:

axS+bx+¢

GRaph

When graphed, a quadratic equation creates a U-shaped

curve called a

TIpes Of
Parabolas

Use your graphing ca!cufatar fo sfretch the following:

y=x>+2x-5 y=-xX+3x+7
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« If'a’is E) DS I I v Q} ;, then the parabola opens J_P_,
like a smile ©

= If'a’is l ]E %Q-\- l i i 5 , then the parabola opens m
like a frown &




a vertical [ime -that Separates ~the

AXis of _
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Formula for the axis of symmetry: X—.. 2
turnimg poimt of the parabola,
VCFTCX * When the vegexE the Jowest point, it is called amtj]ll:mu_m
= When the vertex is the highest point, it is called aTﬂQX[m_Tm
.6, aples Axis of Symrgetry: tex: Sketch: 1
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Domain: Q" RQQ‘#S Range: \|Q_l
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Increasing Interval: X > Lf_ Decreasulg Interw. a] X‘L_ Ll'

Y - Intercept: (0. lS) —

"¢ " valuy

a=-1 b=10 |X
C=-4d3

Domain: ﬂ“ | QDI E&S Range: \'

Increasing Interval:

Axis of Symmetry Vertex: Sketch:

d
1) \ (5) -l-m(s) afcs

x < 5 Decre Efsmg Interval: X > 5

Y-Intercept: (0 ‘_ 33 i



3.y=3x"-12x+5 Axis of S mme Vertex Sketch:

0=8 b=-11 x__@_ 1 3(3)-—-]3(3)1'5 "T T
C=5

N=-1] =
X‘él =1 n. :
Domain: QL] real *FS Range: \|<§ L \T\./

: > .
Increasing Interval: X Q’) Decreasing Interval: XL Q
Y-Intercept:

4. y=49"+8x-1 Axis of Symmetry: Vertex: Sketch:
Domain: Range:
Increasing Interval: Decreasing Interval:

S.y=-x"=-4x-2 Axisof Symmetry: ___ Vertexi __ Sketch:







Answer the questions given the graphs above.

1. What is the axis of symmetry for Graph A?

2. What is the axis of symmetry for Graph B?

3. What is the vertex of Graph A?

4. What is the vertex of Graph B?

Maximum or Minimum?

Maximum or Minimum?

5. Identify the domain and range of Graph A.

6. Identify the domain and range of Graph B.

7. ldentify the equation for Graph A:

8. Identify the equation for Graph B:

A y=x2-4x-1

B.y=1"+4x-1

A y=x2-6x-5

B._1'=.\2+61—5

C.y=--4x-1

D.v=-®+4r-1

Cy="-6x-5

D. _1-‘=—.12+ﬁr—5







